(%=1 —4]

RYd—ba—F (YVa=7-2—R) BREBES (F8Hv1—XR) BEX

HH Sfm6E|l | A28 (1)
B2l Tur s L% BBEAD
9:00 —
#4522 [204] BRGNS
9:20
EENRE cTI—T T — I ADEN
[45%] (A>o14 >FBATDNIKRYIKRY)
m00|m%
HR#E [10%]
10:15
EENRE c TI—T T — I ADEN
[45%]) (A>54 >FBABNIRYIRY)
. I1:00
1:00 E T105]
[1:10
F—=1
TI—T7—7 AR=Y - NSZAY N (RR=VEBTH "B&hH, . "B, ™S
[60%°] ZAT by, TER YY) ICELT., Frofbrisd - LRSI
12:00 FR=VEELTAHOBEIG, COLIRIEXIHEZTLLID?
' 12:10
A [10%])
12:20
. . F—=2
7”M;3 7 ZAR— VBRI B THAELERICEOAVEDIC, HEEIT L
13:00 A RREEANCDLEI R I EFEATVIHIELVNTLLEIDN?
13:20
3 "~ AN
P A4 5> 2 [104]




